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let rec £f nm =
if m = 0 then O
else if (n mod m = 0) then
(f n (m-1)) + 1
else
fn (w-1)
let num_of_div n =

fnn
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let rec factor n =
if (n mod 2 > 0) then O
else
(factor (n / 2)) + 1

R 3 (OCaml REERA 7 1))

QWRITCDIEFITH TCEENITRTEHTHE D% OV AMDY AN ELUTEHRT S, 2 21X,
[[1;2;3];[4;5;6]5[7:8;9]] 1% 3*¥3 174 TH D, TDEIWITF%E 2 DANELTH LWV, TN 2 DDITFH DR
ZRTEBEEEE L, (RTDBDOEITHITH 5,

B, ZD &S HBEEIE. (int 1list list) * (int list list) -> (int list list) EWHHEIEED
X3TH5B,

BEAD—H

let rec nth vec i =
match vec with

| [ ] -> failwith "length of vector is too short"



| v :: vec2 -> if i = O then v else nth vec2 (i - 1)
let array_ref ary i j =

nth (nth a i) j

let rec vlength vec
match vec with
01 ->0
| v :: vec2 -> 1 + (vlength vec2)
let rec inner_product vecl vec2 =
match (vecl,vec2) with
I (01,0 >0
| (v1::vecltail, v2::vec2tail)
-> vl * v2 + (visit vecltail vec2tail)
| _ -> failwith "length mismatch error "
let get_row ary i = nth ary i
let rec get_column ary j = ...
let matmul a b =
let len = vlength a in
for i = 0 to len -1 do
for j = 0 to len -1 do
inner_product
(get_row ary i)

(get_column ary j)
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